MA 103

Lesson 30 - Number of Solutions

October 16, 2007

1. A recreation center wants to purchase CDs to be used in the center.  There is no requirement as to the specific artists.  The only requirement is that they purchase 40 rock CDs, 32 Western CDs, and 14 Blues CDs.  There are three different shipping packages offered by the company.  They are an assorted carton, containing 2 rock CDs, 4 western CDs, and 1 blues CD; a mixed carton containing 4 rock CDs and two western CDs; and a single carton containing 2 blues CDs.
  

a. What combination of these packages is needed to fill the center’s order? 
b. Are there any other solutions?
2. Two planes are given by the following equations
: 
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a. Do the planes intersect?  If so, provide at least one point where they intersect.

Another plane is given by the equation:  
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b. Do the three planes intersect?  If so, provide at least one point where they intersect.

� Problem adapted from:  Sullivan, Mizrahi (2004).  Mathematics, an applied approach.  pp. 81.





� Problem adapted from:  Stewart (2001), Calculus: Concepts and Contexts.  pp. 684.
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